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APPLIED MATHEMATICS-II 
2nd Exam/Common/2354/June 2015 

Duration 3 hrs         M. Marks: 75 
Section A 

Q 1           15x1=15  
     A. Choose the correct one: 

I. If ݔ = sin then acceleration at t = గ ݐ3
ଶ

 

a. -9   b.  -3   c. 3   d. 9 
II. Equation of normal to the circle y= ଶݔ2 − ݔ3 − 1  at point (1,-2) is  

a. 0=1+ ݕ + ݔ b.  0=1- ݔ  c. 0=1- ݕ   d. 0=1- ݕ + ݔ 

III. ∫ ݔ݀ݔ݃݋݈ =ଶ
ଵ  

a. log(2ൗ݁ ) b.  log4  c.  log(4ൗ݁ )  d. log2 
IV. Arithmetic mean of 7,9,5,2,4,8, ݔ is given to be 7. Then x is 

a. 12   b.  14   c. 11   d. 10 
V. Order of differential equation  (ݕᇱᇱᇱ)ଶ + ᇱᇱݕ2 + ݕ3 =  is  ݔ

a. 1   b.  2   c. 3   d. 4 
 

B. State whether the following statements are true or false: 
I. Function is said to be odd if  ݂(−ݔ) =  .(ݔ)݂− 

II. limఏ→଴
ୱ୧୬ ଶఏ
ఏ

 is equal to zero. 

III. If ݕݔ = ܽଶ then ௗ௬
ௗ௫

= − ௫
௬

 

IV. A matrix may be rectangular or square shape. 
V. Integral of zero is constant. 

 
C. Fill in the blanks: 

I. If  อ
1 2 3
݇ 5 6
7 8 9

อ = 0 then ݇ = -----------. 

II. Inverse of matrix A is equal to ----------. 

III. ௗ
ௗ௫

(cot (ݔ = -----------. 

IV. ∫ ݁௠௫݀ݔ  is equal to----------. 
V. Probability of  ---------------- is zero. 

 
Section B 

Q2. Attempt any six questions         5x6=30 

a. Evaluate lim௫→ଵ
√ଷା௫ି√ହି௫

௫మିଵ
 

b. Prove that   อ
ݔ + ܽ ݔ ݔ
ݔ ݔ + ܽ ݔ
ݔ ݔ ݔ + ܽ

อ = ܽଶ(3ݔ + ܽ) 

c. Find equation of tangent to the curve ݕ = ଶݔ9 − ݔ12 + 7 at ൫2
3ൗ , 3൯  

d. If ݔ = ߠ)ܽ + sinߠ) and ݕ = ܽ (1 − cos Find  ௗ௬ .(ߠ
ௗ௫

 

e. Evaluate ∫ ௗ௫
ଵାୱ୧୬ ௫

 

f. Integrate ݔଶ cotିଵ   ݔ
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g. Find area bounded by the curve ݕ = ݔ between x-axis and the ordinates ݔ݃݋݈ = 2 and 
ݔ = 3 

h. Calculate the median of the data 
Class interval 0-7 7-14 14-21 21-28 28-35 35-42 
frequency 8 7 14 16 9 6 
 

i. The odds against A solving a certain problem are 8 to 6 and the odds in favour of B solving the 
same problem are 14 to 10. What is probability that if both of them try, the problem would be 
solved? 

Section C 
           

         10x3=30 
3. Solve the equations by matrix method: 

ݔ2 − ݕ + ݖ4 = 18 
ݔ3− + ݕ݋ + ݖ = −2 
ݔ− + ݕ + ݖ0 = 0 

     OR 

 Prove that ∫ log(1 + tan ݔ݀ (ݔ = గ
଼
2݃݋݈

ഏ
ర
଴  

4. Differentiate w.r.t. ݃݋݈]݃݋݈ ݔ(tan  [(ݔ
     OR 

If ݕ = ݁௠ୱ୧୬షభ ௫  Prove that (1− ଶݕ(ଶݔ − ଵݕݔ = ݉ଶݕ  
 

5. Calculate mean and standard deviation for the following data: 
 85 75  65 55 45 35 25 ݔ
 2 51 140 153 132 61 3 ݕ

 
     OR 
Find maximum and minimum value of the function ݔସ + ଷݔ2 − ଶݔ3 − ݔ4 + 4 
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